
 

 

  ت)�ریـــــــ�ـ+ ا�ـــــــ	وال ا��ـــــــــ&�" و ا��ـــــــــــــ�1�2"ـــــــــ��ــــــــــــــــــــــــ

� ا��) ی+ ا>ول:� 

 

a є IR ; f (x) = ax    � ��	
�� ت��2�O M�� 5 � دا��  f  1-أن �-!  

f (α x1 + β x2) = a (α x1 + β x2)  

                      = α ax1  + β ax2  

                      = α f(x1) + β f(x2) 

 = �KR� 0� α = β ا�Q6ال   (1)
1
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  2-9S    

f (
1
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1

2
 x2) = f (

x1 + x2

2
)   M�� 2:+ت:                                               

                       = 
1

2
 f (x1) + 

1

2
 f (x2) 

                      = 
1

2
 (f (x1) + f (x2)) 

 

� ا��) ی+ ا����0:� 

 

-2x – 6 + 3f(x) = - 6 – 3 f (x)    �(ی��:                                                   

-2x – 6 + 6 = -3 f(x) – 3 f (x) 

-6 f(x) = -2x 

f (x) = 
-2x

-6
 = 

1

3
 x 

 ��	
 و !�����f  M دا�� 

f (7x) = 7 f(x)                 � ��	
ن�دا��   f  2- أن �-!  

1

7
 f (7x)  = f(x)                                  0�����! و         

f (α) = 1     نإذ    A(α , 1) �	�(�ی-, �� ا Cf 3-  

f (α) = 
1

3
 α                            ى,
 �� ��N ا

α = 3    � �(�        ن �         و  
1

3
 α = 1           نإذ  

f (3) = β      0(ی�  B(3 , β)   �� ,-ی   Cf   

1

3
 × 3 = β                                                           0(ی� 

β = 1                                                        نإذ   

 

� ا��) ی+ ا���0=:� 

 

f (1) = 5                                                        +! ��	
�*  دا��    f   �(ی�� 

 

f (1)  = a × 1 = a         ;          f (x) = a x                             �(ی��  



 

 

a = 5                                                نإذ  

f (x) = 5 x     2�O M�� 5ت�� f  ��	/�ا ��ا��0 ا����و !�     

f (2) = 5 × 2 = 10    0ه :                                           f (2)   إذ �-�K ن     

 

��� ا��) ی+ ا� ا�  

 

  ����-x  1 ��ج ()� ���)�إ

x + (4%)x U(��<ن ا ���-<ا�6)� ا�ج ه<    �0 ا��  

4% = 
4

100
 و ��ی)�    0,04 =  

x + 0,04 =  x (1 + 0,04)              0 (��<ن ا����و !�U                     >ج ه��  

              = 1,04 x 

f(x) =1,04 x   *�+!f 0ه ��	
  ��ج ه<ن اUإذ x 1,04 ا�Wي ه< ص<رة  x   !�ا�� 

 

  !�	 ,O�1� L�1��Q6ال اYول !�(�/�ام ا��ا�� ا�/	�� -f 2 ��ج ا�6)�  إ ا��0 ت�	�)� 

 

: ��ج ا�6)� اYو�M إا�,�)�  إذا�-<ا���   

f (5000) = 1,04 × 5000 = 5200 

  E��5200 ��ج ا�6)� ا�-<ا��� ه< إو !�����0 (��<ن 

 

� ا��) ی+ ا����<:� 

 

� ��H�Iت ��2 � دا�O M�� 5ت�� �� : f 1- أن �-!  

a , b є IR         9�           f (x) = a x + b  

(1)   f (-1) = -a + b = 4        و        f (1) = a + b  = 2  ��        �(ی  

a = 2 – b                                                     نإذ   

(1) �KR��0 ا�  a  �-�K ض>�  Bث 

-(2 – b) + b = 4  

        2b – 2 = 4  

                b = 3                                           0(ی� 

    a = 2 – b =  -1                  و                          

f (x) = -x + 3                                                 نإذ   

k = -1   -���2 ی�)0 أن�ا \H  g و f  0��-��د�ن���<ازی�ن �   Cg و Cf 2-أن �-!  

g (x) = -x                                                      0�����! و 

 

� ا��) ی+ ا���دس:� 

 

f (x) = a x + b  � ��H�Iت ��2 �دا�O M�� 5ت�� ��  f  أن �-! 

 �a  9  و b ��دان ������ن ی[5 ت+�ی�ه-�

f (2 x – 3) = a (2 x – 3) +b = 2 a x + b – 3a  

f (2 – x) = a (2 – x) + b = -a x + 2 a + b 



 

 �KR��ا L1	 :  

2 a x + b – 3a + 3 (-a x + 2 a + b) = 3 x – 1 

2 a x – 3 a x + b – 3 a + 6 a + 3 b – 3 x – 1 = 0                       0(ی� 

-a x – 3 x + 4 b + 3 a + 1 = 0 

(-a – 3) x + 3 a + 4 b + 1 = 0 

:!�	L1 ا�/�ص�� ا������   

  α x  + β = 0        *�+!   x  ی�� �-�� 

β  = 0            و    α  = 0   ��   ن  

 

3 a + 4 b + 1 = 0          و        - a – 3 = 0   ن         إذ  

3(-3) + 4 b + 1 = 0              و           a = -3           0(ی� 

-9 + 4 b + 1 = 0 

b = 2           ن           إذ               4 b = 8       0(ی� 

f (x) = - 3 x + 2                            0�����! و                        

- 3 α + 2 = 5         0(ی�             f (x) = 5  2-  �(ی��  

 

- 3 α = 3                                                                  نإذ   

α = - 1 

 

 

 

:��� ا��) ی+ ا���� 

 

Cf     0-�(إتM�   E (α , β )  1-���� �H:!  

f (α) = β      ی)�ذإ��ا آ�ن   

f (1) = ( 3  + 1) × 1 + 3  = 2 3  + 1    ≠  3  

A ∉ Cf                  0�و !�ت� 

f (0) = ( 3  + 1) × 0 + 3  = 3  

B є Cf          نإذ   

f (m – 1) = 3 (m + 1)    إذ  Cf    0-�(إتM�  C 2-  

( 3  + 1) ( m – 1) + 3  = 3  ( m + 1)                      : نإذ     

- 3  – 1  + 3  m + m + 3  = 3  m + 3  

m = 1 + 3   

 

 

 

 

 

 

 

 


